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Fill in the blank with the correct:

modal: 7~
I am: afraid that if I asked him
again, he refuse.

(uncertainty and Mﬂity)
() might (2 ought
(3) mustn’t (4) wouldn’t
(6) Question not attempted

Choose the option which correctly
expresses the concept in brackets:

at the end of the sentence and fill
in the blank :

She sit for hours in her
garden and knit. (past habit)

(1) oughtto (2) would
(3) might (4) shall
(5) Question not attempted

Fill in the blank with the correct -

modal :

I managed to find the street, but I
find her house. (inability)

(1) hadn’t (2) wasn’t
(3) couldn’t (4) usen’t
(6) Question not attempted

I bought three loaves, that
be enough. (express deduction or
conclusion)

(1) will
(3) should (4) can

(2) may

(5) Question not attempted

~

Fill in appropriate modal in the
blank :

On the other side of the wood,
there was a field that he

cross to reach his home.
(immediate obligation)

(1) should (2) must
(8) might (4) ought to
(5) Question not attempted

Fill in the blank with the correct
modal auxiliary :

He didn’t be reminded about
it. (absence of necessity)

(1) want to (2) need to

(3) oughtto (4) usedto

(5) Question not attempted

Fill in fhe blank by choosing the

correct-preposition :

It is very hot _____ the centre of
the earth.

(1) upon (2 at

(8) on (4 in

(5) Question not attempted

Fill in the blank with the correct
option :

| Did they comply —.the rules ?
(1) from (2 by
(8) for (4) with

(5) Question not attempted

Fill in the blank with the correct
option :
advising her, he also helped

her. ,
(1) Besides (2) Beside
3) Of (4) Since N

(6) Question not attempted
’ 04
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11.

12,

13.

Select  the correct preposmon for
the blank :

He was happy,,to be
university friends again.

(1) between (2) besides

4
(3) among

all his

(4) onto
(5) Question not attempted

Fill in the most appropriate
preposition :

Are you any good tennis ?
(1) in @2 at
(3) about (4) with

(5) Question not attempted

Fill in the blank with a correct
preposition :

We saw ‘an unknown object hover
us before it disappeared into
the clouds.

(1) at (2) over
(3) into (4) by
(6) Question not attempted

Fill in the blank with the correct
phrasal verb :

Youll have to work very hard
today to .the time you
wasted yesterday.

(1) make out

(2). make up for
(8) make for up
(4 make'upto

(5) Question riot attempted )

14.

&«a
g

Choose the correct option to

replace the underlined part of the ’

sentence :

The joke caused no amusement,
(1) fell out

@) fellback

(8) did not hold water

(4) fell flat

(5) Question not attempted

The meaning of the following
idiom is :

‘Give yourself airs’.

(1) Go out of doors

(2) Make a wrong choice

3) Act pretentiously or
snobbishly
(4) Make someone annoyed or

. angry
(5) Question not attempted

Choose the correct meaning of the
idiom ‘A golden calf’ from the
options given below :

(1) The highest prize

(2) The perfect object of worship .

3y An unworthy
worship

(4) A glitzy-piece
(5) Question not attempted-

Choose the correct meaning of the
phrasal verb — ‘get around’ from

1{¥ the options given below :

ToFa
e

(1) Recover

(2) Make progress

(3) Escape

(4) Persuade or coax

(6) Question not attempted

object of .
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Read the passage carefully and answer
the questions from Q. No. 18 — 21 :

“Poetry is the language of the
imagination and the passions. It
relates to whatever gives immediate
pleasure or pain to the human mind. It
comes home to the bosoms
businesses of men; for nothing but
what comes home to them in the most
general and intelligible shape can be a
subject for poetry. Poetry is the

universal language which the heart"?""

holds with nature and “itself. He whog

has a contempt for poetry cannot havelif“
or forg
anything else. Wherever there is a

much respect for himself,

sense of beauty, or power, or harmony,
as in the motion of a wave of the sea, in
the growth of a flower, there is poetry
in its birth”. — William Hagzlitt.

18. Who, according to the paragraphﬁ
-cannot have a respect for himgelf %]

(1) One who
things

likes

material

(2) One who has a contempt for

and”

g‘-;; ‘

(3) One who is in love withéF
oneself %
(4) One who understands™t
oneself
(6) Question not attempted
*19. What gives birth to poetry ? -
(1) A respect for societal goals g
(2) Alove for oneself iy
(3) A sense of beauty or power,g

4)
(5)

poetry

or harmony
A love for facts of life
Question not attempted

=
e
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3)
4@
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€
€)
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(4)
(5)

sk

1)

]

3
C)
(5)

@) .

20. Synonym jof the word, ‘Harmony’
is :

(1) Dissonance
(2) Peacefulness
(3) Disagreement
, @) Incongruity
(6) Question not attempted
21. What kind of language is the
language of poetry ?
(1) Of far-fetched objects &

subjects

Of rules and regulations

Of realities of life

Of imagination and passion
Question not attempted

22. When writing a precis, one should
avoid which of these rules ?

Use one word for many by
substitution.

Use shorter clause structures
by ellipsis.

Leaving out every third
word.

Deleting examples and
repetitions.

Question not attempted

23. Fill in the blank with the correct
option :

Précis writing is an exercise in

expansion
paragraph writing
compression

‘paraphrasing

Question not attempted
04




24,
25.
L :
¥
|
26.
|
E

Which one of the following is NOT
a characteristic of précis writing ?

(1) Inclusion of colloquial
expressions and rhetorical
flourishes

(2) Simple, direct language

(3)- Coherence and logic

@ Complete .and self-contained
sentences*a

(5) Questmn%%ot attempted

While choosing a title for your
precis, the best way is to —

1. think of some word or
phrase @at will sum up
briefly the mam subject of
the pass%’%e g

2. look for E’aﬂkey sentence that
may be found at the
beginning or at the end of
the passage.

3. make the title as informative
as possible. .

Select the correct answer.

(1) 1and 3 2 1,2and 3
(3) 1and?2 &"ﬁ% (4) 2and3
(5) Questiod ot attempted

To achieve a personal tone in

letter Writing%gnne should :

(1) write &jn a  natural,
Lor]

conversational style.

(2) .avoid pgrsonal pronouns
when possible.

(3) be remote and aloof.

(4) avoid the use of the person’s
name.

(6) Question not attempted "

27,

28,

29.

A good letter should not be : .

8

The most usual subsecription used
in the letter of application for a
post is :

(1) Your’s sincerely

(2) Yours faithfully

(8) Yours affectionately

(4) Your’s very sincerely
(6) Question not attempted

Which one of the following is the
correct sequence for the form of a
letter ?

(1) The heading, -address on the

envelope, greeting,
subscription, body of the
letter.

(2) Address on the envelope, the
heading, the salutation, body.
of the letter, the
subscription.

(8) The heading, greeting or
salutation, body of the letter,
subscription, address on the
envelope.

(4) The salutation, the heading,
address on the envelope,
subscription, body of the
letter.

()] Question not attemi)_ted

(1) clearly written,

(2) Dbriefly stated

(8) glaringly opinionated

(4) courteously polite

(5) *Question not attempted ~

*




30

31.

32.

33.

The three ‘C’s in a good. report do
not 1nclude

(@H) Clar1ty .
(2) Crudity '
(3) Consistency

(4) Consequentiality

(3) Question not attempted

Which one of the following is
generally not found in the format
of a written report ?

(1) Salutation or greeting
(2) Executive summary

(3) Introduction

(43 lBody and conclusion

(8) Question not attempted

A report must always be —

1. informal in its tone,
Janguage and presentation.

2. formal in its tone, language
and presentation.

—

3. a formal presentation of
available information.

Choose the correct answer from
the options given below :

(1) Only 1 is correct.

(2) 2.and 3 are correct.

(8) 1 and 3 are correct.

(49) 1 and 2 are correct.

(5) ‘Question not attempted

A systematic and well organized
formal presentation of facts and
findings of an event that has
already taken place somewhere is

(1) acircular (2) a‘tender
(3) aletter (4) areport
() Question not attempted

34.

35.

36.

“Who best bear his niild ,yoke
they serve Him best.”

(On His Blindness)

What does ‘Yoke’ here refer to ?
1) The eternal punishment

;@) . The eternal human
l?é'%‘ predicament

18) The talent wasted fondly

(4) A harness or responsibility
(6) Question not attempted.

In his “On His Blindness” Milton
{reﬂects a complex mix of
%%otlons He moves from — s

f(I) -hope to frustration to grief.

[

(2) grief to frustrat;ﬂon to
resilience. .

(3) hopelessness to hope to

- hopelessness.

&2? belief in God, questioning
God to doubting God.-

ey
[(6) Question not attempted

John Donne enlists several
impossibilities in" the first stanza
of the poem — ‘Go and catch a
fall1ng star’. Choose the one which
&9 has NOT Wntten in the first
dtanza.

LY

ii%) Catch a falling star

(2) Hear mermaid’s,singing,

(3) Pilgrimage of Ten Thousand
days and nights ‘

(4) Finding about.‘the cause of
devil’s cleft foot

(5) Question not étteﬁ‘ifmed i
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317. Whlch one 1s g wrong assessment

of the ¢ g1ven poems ?

(1) Written in 1819, “Ode to the
West Wind”, Shelley had the
Peterloo massacre in mind.

2 ‘Ode on a Grecian Uri, was
msplred by Keatg’ stm%y of

»'  Elgin Marbles in the B’i'ltlsh
Museum. El‘%

(3). ‘Daffodils’ by Wordsworth is

' a sonnet inspired by a long

, encountered in Ullswater.

belt of daffodils he -

Browning’s “My Last Duchess” is:

an ekphrastic poem, one that

engages with a work of art and

dramatizes V1ewers responses to

the artwork. Besides Browning’s

poem, another notable example is :

(1) Wordsworth’s : ‘Daffodils’

(2) Donne’s : “Go and Catch a
Falling Star”

(3) Keat’s : “Odé on a Grecian”
Urn”

(4) Shelley’s : “Ode to the West
Wind”

(49 ‘My Last Duchess” is (6) Question not attempted
preceded by .an epigraph )
“Ferrara” that details- the | 41. The. neighbours of  the

: identity of the Duke a’ﬁ’ﬂ the poet/speaker made various wishes
L . Duchess. ME‘JI for the poet’s scorpion-stung

“t5) Question not attempted” motht?r 1}1 the poem — ‘Night of th?
) | e Scorpion’. _
38. West Wind is addressed by various Which of the following wishes was
names and adjectives by Shelley NOT wished by them ?
# in his — ‘Ode to the West Wind". | (1) May the sins of previous
Which of the following addresses birth be burnt away.
is M‘}erd 1n the poem ? % . (2) May the suffering decrease
} (1) Spirit Fierce ! £ r the misfortune of the next
(2) Uncontrollable! ) birth.
(3) Thou Breath of Wmter‘m‘ | (8) May the poison purify the
(4) Impetuous One flesh of desire.
: (5) Question not attempted (4) May the suffering spare the
o L. sum of her good deeds.
39. “Sylvan historian, who canst thus (5) Question not attempted
_ express
A flowery tale more sweetly .than | 42. “There were green,
our rhyme.” m ’ Tattoos on their cheeks, ____ in
What does ‘Sylvan’ refer toi}?n the their hair.”

above lines from Keats’ ‘Ode-on a
Grecian Urn’ ?

Fill in the blank with the correct
option on the basis-of your reading

(1) Divine the poem — “Dance of the
(2) Greek Eunuchs’
(3) Scholar of sculptures (1) Jasmine 2y | Clips

(8), Tulips (4) Blossoms
(6) Question not attempted

(4) Living or located in the forest |
(5) Question not attempted ‘

"
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43.

44,

45.

46.

Fill in the blank with the correct
option :

In “Go and Catch a Falling Star”,

the speaker commands his
listener to perform a series of
impossible tasks to illustrate

(1) Women’s fidelity

(2) Women’s beauty

(3) Black n:fagic

(4) Women’s infidelity

(6) Question not attempted

In Shakespeare’s play ‘Macbeth’
who among the following is NOT a

Thane to Scotland ?
(1) Macduff (2) Lennox
(3) Seyton (4) Angus

(6) Question not attempted

Who is Fleance in the play —
‘Macbeth’ ?

(1) Name of Hecate

(2) Thane.of Cowdor

(3) Banquo’s Son

(4) Earl of Northumberland
(6) Question not attempted

Where does Macbeth fortify

himself to fight against Malcolm
in the lagt Act of the play ?

(1) Cowdor

@ Glamis

(8) The Wood of Birnam
(4) Duncinane
(6) Question not attempted.

1 47.

i

48.

49,

The play Macbeth by Shakespeare
was written during the reign of

————

(1) Queen Elizabeth
(2) ' Charles IL..
]
(3) JamesI &
(4) Richard %%
(5) Questiontnot attémpted

In the famous interlude in
Macbeth, Act 2, Scene 3, The
Porter Scene, who is admitted to
Castle of Inverness ? Why isfare
he/they there Z;m
(1) Macduff €dnd Lennox; they
have confggto wake Duncan
(2) Lady Maﬁbfeth; she has come
to murder Duncan

(8) Macbeth; he has come to
announce his victory

(4) Donalbain and Malecolm; to
greet their father :

() Quest'ionmgpt attempted
=

&5
- Match the fdllowing couples on

the basis ;f your reading
Shakespeare’s — “As You Like It”.
i.  Oliver a. Celia

ii. Orlando b. Rosalind
ii, Silvius c. Audrey
iv. Touchstogg d. Phoebe

Choose the cﬁ?rect option :

(1) ib, uagf:c iv-d

(2) i-a, ii-b, iii-c, iv-d
3) i-b, ii-a, iii-d, ‘iv-c

(4) i'a’
(5) Question not attempted

S H

ii-b, iii-d, iv-c
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50. Shakespeare has portrayed some

61.

52.

(1) Audrey

of his characters as the genuine
pieces of rusticity in the play — ‘As
You Like It’.

Pick up the odd one out ‘who is not
a rustic character.

(2) Touchstone
(3) William (4y Corin
(5) Question not attempted

Choose the correct option :

Who speaks the following lines to |

whom in Shakespeare’s. As You
Like It ?

“© good old man how well in thee
appears

The constant
antique world

gservice of the

When service sweat for duty, not
for need

Thou art not for the fashion of
these times”

(1) . Jaques to Duke Senior
(2) Oliver to Adam
(3) Orlando to Adam

(4) Duke Frederick to Duke
. Ferdinand

(5) Question not attempted

Choose the correct option : .

Who is Jaques de Boys in As You

Like It ? ' :

(1) A Lord attending on Duke
Senior

(2) The

second son of Sir

Rowland
(8) The Wrestler
(4) A Shepherd
(5¥

Question not attempted

fIagut

(98901

g
o
o

N EEEY

583. Hill in the blank with the correct*

option :
I *the play ‘As You Like IY
Phoebe’s remark “Whoever loved

that loved not at first sight” harks
back to

(1) Marlowe’s “Hero and
Leander”

(2) Shakespeare’s “Much Ado
About Nothing”

(3) Bacon’s “Of Love”

(4) Spenser’s “The Farié

Queene”
Question not attempted

(5)

‘Some books are to be tasted,
others to be swallowed and some
few to be chewed and digested’.

Here ‘to be chewed and digested’
means

@)

it is enough to read reviews
of books. :

(2) to be perused lightly. .
(3) to be read with less curiosity.

(4) to be read with attention and
diligence.

(6) Question not attempted

Bacon identifies three main
purposes of studies, they are :

(1) knowledge,

and education
(2) delight, ornament and ability
(8) exploration, description and

understanding

explanation
(4) prediction, diagnosis and
- delight .
(6) Question not attempted
nbt
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The phrase ‘brandished weapon of
his art’ in the essay ‘The Praise of
Chimney Sweepers’ refers to —

(1) qurd (2) Pen

(3) Brush (4) Stick -

(5) Question not attempted %ﬂf
£

In ‘The Praise of Chlmney :

Sweepers’, Lamb compares little
professional mnotes of small
chimney sweepers to —

(1) a young sparrow

(2) a nightihgale %‘
(8) aparrot kﬁ%
4 a young rose-breasted

Grosbeak R

(3) Question not attempted

Who hosts an annual feast for the
young chimney sweepers ?

(1) Bigod (2) Mr. Rea&"‘"

(3) Elia 4) dJem Whlf’e

(5) Question not attempted ¢y

frain

The reason for Henchard’s

immediate liking for Donald

Farfrae is —

(1) Farfrae provides Henchard
‘with some political
opportunities. “t“"

(2) Farfrae shares w11fh
Henchard a technlque that
makes ruined grain usable‘-m,

(8) Farfrae helps Henchard
avoid an  uncomfortable
confrontation with Susan.

(4) Farfrae is a good drinking
companion.

(5) Question not attempted

60. Who is the ‘f)iolpgical father of

Klizabeth in The Mayor of
Casterbridge ?

(1) Michael Henchard

(2) dJoshua Jopp

(8) Richard Newson

(4) Donald Farfrae

)] Quest;ionr' not a{ttempted

Fill in the blank with the correct
option :

Henchard sells his wife to —
@1 a héy trusser

(2) the furmity seller

(8) a sailor

(4) asmoking gentleman
(5) Question not attempted

Choose the correct answer to the
given question from the options
that follow :

Which of the:! following are true
with regard to “The Mayor of
Casterbridge” 7 .

i

A. Henchard’s real daughter
was alive.

B. The novel is the story of a
man of character.

C. Hardy prioritizes character
overfate and incident.

D. The Skimmity nde killed
Lucetta.

(1) AandC (2) BandD
(3) B,CandD (4) OnlyC
(6) Question not attempted

04




63.

64.

65.

66.

Choose the correct option : 67.
Who revealed in ‘the court that
Henchard had sold his wife to a
sailor ? )
(1) Newson
(2) Susan .
(3) Joshuadopp = 2
(4) The furmity woman f;%
(5) Question not attempted s
“Conquer taste and you will have
conquered the self”. 68.
The above line characterizes
Jagan’s valuingof __
(1) materialism ;’gﬁ’;
(2), frugality €0y
(8) restraint and balance i%
(4) prudence Fo
(5) Question not attempted
Fill in the blank with the correct
option :
Jagan uses the term Amrita and
Sanjeevini for N
(N Margose_i %@%
(2) the Peepal tree %}g
(3) the Banyan tree =i g9,
(4) the Eucalyptus tree '
(5) Question not attempted I
Which among the following is
NOQT one of the themes taken up _
in the novel, Vendor of Sweets ? E:;; !
(1) -Father-Son relationship ‘ %%:
(2) Clash between Indian andi

" Western culture e
(3) The Gandhian way of life
(4) - Malgudi ethics and

connections ,

(6) Question not attempted

(6)

What is the subject of the book
that the Sweet Vendor has
written and intends to publish ?

(1J)h ‘Culinary Arts

(2) FPamily Relationships
(3) ¢ Mahatma Gandhi

(4) Naturopathy o

(5) Question not attempted

Choose the correct option :*

“It makes coherent sense on the
literal or primary level of
signification and at the same time
communicates a second correlated
order of signification”.

The above lines define

(1) the sonnet

(2) the ode

(3) the allegory

(4) the Gothic -

(6) Question not attempted

Choose the correct option :

Which of the following is a Gothic
novel ?

(1) Walpole’s “The Castle .of
Oftranto” .

(2) “The Pickwick Papers’ by
Dickens

(3) Hardy’s “The Mayor of
Casterbridge”

(49 R.XK. Narayan’s “The Vendoi
of Sweets”
Question not attempted

frve <
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71.

72.

Dr. Johnson in his dictionary

(1755) defines this literary form

as “Narrative, comprising
narrations not actéd but
rehearsed. It is usually supposed
to be heroic, or to contain one

great action achneved by a hero”

What is he refegrmg to:?

(1) Ballad {8

(2) Ode

(3) Epic

(4) Allegory

(5) Question not attempted

Petrarch’s sa’ﬁnets were first
imitated in England in form and
primary sub]ec@matter — ‘a doting
lover’s hopes &pains’ by —

(1) Christopher Marlowe
(2) Sir Philip Sidney

(8) Sir Thomas Wyatt
(49 Edmund s?:S"penser i

(5) Questiongl;i‘%ot attempted

Ty
Choose the cgfiect option to the
following question by filling in the

blank :

“Tt arises out of folk literature and
is transmitted orally. It is a
narrative specigs of folk songs.”

The above is atefinition of a -

(1) Sonnet ¢l

@ Ode

(8) Ballad

(49) Gothic

(5) Question not attempted

73.

74.

5.

In Greek and Roman times, the
term used to refer to the subject
matter of change and loss
especially in complaints about
love is

(1) dirge

(2)* sonnet

(3) elegy c

(4) ode

(5) Question not attempted
Choose the correct option :

Which of these are true ?

A. The Pindaric ode is also

known as the irregular ode.

B. Horation odes are shorter
than Pindaric odés.

C. The Cowleyan ode is also
called the regular ode.

D. Pindaric ode was introduced:
into England by Ben Jonson.

(1) A & D are correct. |
(2) B & C are correct:
(8) A & C are correct.

B & D are correct.

4)
(5)

Question not attempted

“O heavy lightness ! serious vanity !

‘Mis-shapen chaos of well seemmg
forms 1

Which figure of speech is used in
the above extract ?

(1) Synecdoche
(2) Irony
(3) Oxymoron

{4) Metaphor

(5)J Question not attempted
04




76.

71.

78.

79.

04

The term “ten hands” for ten
workers, or “a hiindréd sails” for
ships is an example of

(1) Oxynoron

(2) Patadox

(3) Synecdoche

(4) Rhetoric P
(6) Question not attempteg%

¢
Which figure of speech areithese
lines an example of ?

“The moan  of
immemorial elms

And murmurmg of innumerable

doves In

bees.” E
(1) Onomatopoeia 3
() Simile X
(3) Metaphor o~
(4) TIrony

(6) Question not attempted

Choose the correct option to fill in
the blank :

“All the perfumes of Arabig will
not sweeten this little handﬁ’gus an
example of

m
(@)) Synecdoche foa
(@) Irony
(3) Onomatopoeia -
(4) Hyperbole L

(5) » Question not attempted

Which of the following hterary
composition is based on ‘Cosmlc

Irony’ ? m
(1) Tess of the d'Ubervilles”
(2) Pride and Prejudice

(3) Rape of the lack

(4) Moll Flanders

(5) Question not attempted

13

80.

81.

82.

83.

84.

“The one red leaf, the last of its
clan
That dances as often as dance it

»

can.

Which figure of speech is used in
the above extract ?

(1) Personification

(2) Irony

(3) Metaphor

(4) Onomatopoeia

(5) Question not attempted

‘A wave of enthusiasm’ or ‘a storm
of abuse’ is an example of —

(1) Simile

(2) Metaphor

(3) Personification

(4) Metonymy

(5) Question not.attempted

What is the correct phonetic
transcription of ‘Tranquil’ ?

(1) Jtrenkwill (2) | ftronkwil/
(3) /tronkwill (4 HArinkwil/

(5) Question not attempted

What is the correct phonetic
transcription of — ‘Judgement’ ?

(1) /dza:d3"meint/

(2) /dzadza:meint/

(8) /dzedzemont/

(4) /dz*dzment/

(5) Question not attempted

-

The phonetic transcription of the
word ‘air’ is

(1) fes(x) (2) /lee()

3) /oo (@) 4) e

(5) Question not attempted

X
1Y,
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- -86.

86.

817.

88.

89.

Choose the correct-transcription of
the given word from the options
that follow : justice

(1) /dgestizs/ (2) [z stis/

(3) /djestis/ (4) /dz~stis/

(5) Question not attempted g}

Mark the primary word stress%
Quintessence €53
(I) Quntessen’ce I
(2) Quint'essence

(3) 'Quintessence

(4) Quin'tessence

(5) Question not attempted

Choose the option with the corregg
primary stress on the given Word%
examiner oy
(1) (figze'mme(r)/ s
(2) [ligzeemine(r)/

(3) figzeemine(r)/

(4) /ig'zeemmoa(r)/

(5) Question not attempted

Which syllable is correctlg; :
stressed in the -‘word
‘Commiserate’ ? Eﬁﬁ'
(1) Commise'rate gs:’

(2) Co'mmiserate
(3) Commi'serate
(4) 'Commiserate
(5) Question not attempted

By using a variety of differenﬁgm '

characters in different voicessy

Eliot, in The Waste Land®

manages to achieve — p=l4

(1) a kind of omniscient®
narration

(2) akind of authorial intrusion
(8) akindof impersonality

(4) akind of personality

(5) Question not attempted

90.

- 91,

92,

The recurring phrase — “Those are
pearls that were his eyes” in “The
Waste Land’ is an allusion to
which of the

Shakespearean plays ?

(1) Hamlet

(2) The Tempest

(3) Romeo and Juliet

(4) Antony and Cleopatra
(6) Question not atten}vpted

Who is ‘the smyrna merchant’ in
the poem ‘The Waste Land’ ?

(1) Mr. Eugenides

(2) Wagner

(8) Stetson

(4) Cupidon

(6) Question not attempted

I

~

“The Birthday Party’ represents —
1. the existential problems
among the post war

generations who have stuck
in utter seclusion.

2. the ontological dilemma that
has compelled the post war
generation to vresort to
distress and fear vis-a-vis
absurdist.

3. the problem of the Industrial
Revolution.

Choose the correct option :

(1) land?2
(2) 1and3
(8 1,2and3
4 2and3

(6) Question not attempted
04
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93.

94,

04

Fill in the blank with the correct
option :
The Birthday Party by Pinter’'is a

(1) comedy of menace

(2) comedy of manners

(3) romantic comedy

(4) sentimental comedy

(5) Question not attempted

Choose the correct option :

What game do the characters play
in Act II of Pinter’s “The Birthday
Party” ?

(1) Musical Chair

(2) Hide and Seek

(3) Housie

(4) Blind man’s buff

(5) Question not attempted

Choose the correct option :

Which of the following are true

with regard to “Cry, the peacock” ?

A. The entire novel is narrated
in the third person.

B. Maya is obsessed with the
astrologer’s prediction.

C. Maya’s pet ddg’s name is not
known.

D. The introductory and
concluding sections of the

novels are nmarrated in the

third person.
(1) BandD are true.

(2 A and C are true.

(3) B and C are true.
(4) A and D are true.
(5) Question not attempted

96. The novel ‘Cry, the peacock’ by

Anita Desai opens ‘with the
narration of —
(1) Maya thinking of Albino’s
astrologer.
< (9) Maya, thinking of her
& childhood with her father.
i3 (3) The death of Maya’s pet dog,
g’z (4) Maya thinking about her
estranged relation with
Gautama.

(5) Question not attempted

i

97. Which one of the following
= Statements are correct in. relation
g?ﬁ to creole languages ?

gn 1. Creole languages are

e vérnacular languages.

P g, They developed as a result of
contact between groups that
spoke mutually unintelligible
languages.

8. They developed as a result of

e contact between groups that

%{g%; spoke mutually intelligible

Yy languages.

‘fQE Options :
(1) land2 (2) 2and3
@ 1and3 (4 Only1l

(5) Question not attempted

98, Which statement about creole
language is true ?

E%‘ (1) Creole languages are always
€ endangered.

g‘% (2) Creole languages are formed
o only in tropical regions.

(3) Creole languages have native
" gpeakers and are fully
developed, stable languages.
(4) Créole languages have no
standardized writing system.
Question not attempted

I
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99. The price of gold has touched

new high.
1) a (2) an
(8) the (4) zero

(5) Question not attempted

7953801

100. Fill jn the blank with a correct
determmer

His ideas are difficult, but
people understand them.

s
() thefew  (2) afew o
(3) much (4) not any E?;
(6) Question not attempted i~
101. She asked, “Some more Soup ?”
He said, “Just ____, please.”
(1) little (2) some g
(3) alittle 4 less o
(5) Question not attempted g_{
102. Fill in-the blanks with the correct
determiners :
There is point in doing
——_ more work now.
(1) a;the (2) no; manyg
@ little;few (4) little; an§§~
(6) Question not attempted §-=
103. ______ U.S. diplomat showed me
great courtesy in the T.S.
embassy.
1 A (2> An
(3) The (4) zero

(6) ‘Question not attempted

|
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104. We are having terrible rains

this year.
1) a (2) an
(3) the (4) zero article

(6) Question not attempted

105, Fill in the blank with the correct
option :

I'd rather she me before

borrowing my car.

(1) must ask

(2) had asked

(3) could have asked

(4) will be asking

(6) Question not attempted

106. If 1

.a sculptor, I ___ a

sculpture for you.

(1) was, made
(2) were, will make
(38) were, would make
(4) ‘were, would made
(6) Question not attempted

107. Susan .him three daughters.
(1) hasborn (2) has borne
(3) hasborned (4) have born
(6) Question not attempted

108. He asleep while he ___ - .
(Fall, study)
(1) fall, was studying
(2) had fallen, studied
(8) fell, was studying

« (4 has fallen, was studying

(5) Question not attempted

04
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109. Fill in the blank with the correct
sequence of tenses :

You crashed if you'd looked
where you were going.

(1) didn’t.have

(2) hadn’t been

(3) couldn’t have been

(4) wouldn’t have .

{(5) Question not attempted

Choose the correct form of the verb
from the options given below :

110.

This paper ___ twice weekly.
(1) is appearing

(2) appears

(3) was appearing

(4) appearing

(5) Question not attempted
111. Choose the option that is
grammatically correct active
transformation of the following :

It. was felt that he was the right
man fox the job.

(1) The job requires a man like
him,

(2) I feel that he is the right
man for the job. '

(3) We/they felt that he was the
right man for the job.

(4) That he was the right man
for the job is felt around.

(6) Question not attempted

04
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112. The whole nation believed that
" Vinesh would win. (change into
* passive)
(1) ‘Tt was believed that Vinesh
would win.

(2),;;‘3 It was believed that Vinesh

%y
o will win,

(8)P Tt was believed that Vinesh
" would have win.

(4) It was believed that Vmesh
would have won.

(6) Question not attempted

I3

118. Chaihge the following direct
speéch into indirect speech :
He sald to her, “Will you be there
tomorrow .

(1). He asked her if she would be
there the next day.

(2) He asked her if you would be
there the next day.

(8)==He asked to her if she would
yy be there the next day.

(412 He asked her if she would be
i~ there tomorrow.

(5) Question not attempted

114. He said, “It is Time I went to bed.”
(change into indirect)

()r=He said that it was time I

}%v‘r’em to bed.

(2)i£! He said that it had been time
. Ne went to bed.

(8) He said that it was time he
had gone to bed.

(4) He said that it was time he
went to bed.

(5) Question not attempted
nl.‘ I3
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115.

116.

117.

He said, “If I had gone to the
circus, I would have seen the
clown.” (change into indirect)

(1) He said that if I had gone to
the circus I would: have seen
the clown. %

(2) He said that if e had gone
to the circus he;rq:g{vould have
seen the clown.

(3) He said that if he would have
gone to the circus he had
seen the clown.

(4) He said that if h¥would have
gone to the circus he would
have seen the cld¥n.

(5) Question not attempted

Which of the following sentences

uses a double negative correctly ?
(1) I don’t know nothing -about

it.
(2) He was not alzginfrequent
visitor. )

(3) She doesnt v{xtg?nt to go
nowhere for the vacations.

(49) She hasn’t done nothing for

the lipcoming exams.
(6) Question not attempted

Identify the correct affirmative
form of the given seﬁenee from
the options that follovj@f_:;

Nobody was absent. {E

(1) Everyone was absent.

(2) Everybody had been present.
(3) Everybody was present.

(4) Everybody wasn’t absent.

(5) Question not attempted

118.

119.

120.

5

. Change the following sentence

from simple to complex sentence :

He has no boots to wear.

(1) He has no boots who he can
wear.

(2) He has no boots which he can
wear. :

(8) He cannot wear bécause he
has no boots.

(4) He has no boots so he ecannot
wear,

(5) Question not attempted

L3
Convert the following simple
sentence into a compound one :

He must work very hard to make
up for the lost time.

(1) The time which he has lost
can be made up by hard
work.

(2) He must work 'very hard but
make up for the lost time.

(3) He must work very hard and
make up for the lost time.

(49) He must work very hard or
make up for the lost time:

(6) Question not attempted

Choose the correct form of the
simple sentence of the given
sentence from the options that
follow :

He sold the horse which belonged
to his brother.

(1) He sold his brother’s horse.

(2) He sold the horse and it was
his brother’s.

(3) His brother had a horsé that
he sold.

(4) The horse that he sold was of
his brother.

(6) Question not attempted
04




121,

According to Piaget, during which
stage do children develop the
ability to perform operations. on
abstract concepts ?

i (1) Sensorimotqr
(2) Preoperational
(3) Concrete operational
(4) Formal operational
(55 Question not attempted
122. Three significant laws of learning

ie.. law of exercise, law of
readiness and law of effect was
given by :

(1) Ivan Pavlov
(2) B.F. Skinner
(8) E.L. Thorndike
v (4) E.C.Tolman
(6) Question not attempted
123. Match List-I with List-II and

select the correct answer by using

the codes _given'below the lists :

List-I' List-I1
A. Piaget @ . Conditioning
B. Bruner (i) Trial and Error
C. Pavlov (iii) Schema
D. Thornd1ke (iv) Discovery
» Jlearning
“ A B ¢ D
(1) @) Gv) @ G

(2) Gv) @) @ O
@ O @ @) G
@) G v @ @

Question not attempted

(5)

| 124.

125.

126.

For effective learning,
organization of the matter into a
whole is important. This is the
view point of :

)
@)

Bandura

']’;'" olman

(3) K%er
(4) Bnuner
(6) Question not attempted

Constructivist theories of learning

suggest that

@) I%;owledge is  passively
aii%orbed by learners.

2 lg%%rners construct
knowledge based on their

experience.

Teaching should focus on role
riémorization.
i€ atio

3)

A%'%essment should only test
fm tual knowledge.

4

®

Questlon not attempted

A Mental healthy person will be :
(1) ° Emotionally balanced but

éomally inadjustable.

(2) S’"‘"c1a11y adjustable and day
dreamer. ‘

(38) Self confident and pessimist.

(4) Emotionally balanced and
socially adjustable.

(8) Question not attempted




127. A child who has been punished by
parents for obtaining poor marks
ih the examination, may display .

128.

129.

the aggressive feeling by
unnecessarily beating a street
dog. This incidence is the example
of

(1) Sublimation

(2) Displacement
(3) Compensation

795801

(4) Repression
(6) Question not attempted

The  concept of emotional
intelligence was first coined by :

(1) dJdohn Mayer anrﬁ% Peter
Salovery e}

(2) Daniel Goleman
(8) Cooper & Swaf
(4) Robert Plutchick and K.T.

Strongman
(5) Question not attempted
g
A high emotionally ini%':é]ligent
student will have 42 good
relationship with : g@j
A. Family
B. Teacher

C. Peer group
Select the correct answer;wfi;om the

codes given below : €D

Codes : g%
(1) onlyA P

(2) omlyC

@) AandC

4 AB and C
B) Qu‘es’i:ibn’ not attempted

20

130. Communication is a process of-

131.

132.

sharing :

A. Ideas and sentiments
B. Sentiments and Goods:
C. PFeelings and Opinion
D. Power and Thoughts

Select thg correct answer using
the codes given below :

(1) AandB
2 AandC
(3 BandD
(4) CandD

(6) Question not attempted

Focussed listening skill include
these stages :

A. Concentrating

~B. Processing

C. Hedring
D. Evaluating

Correct sequence of these stages is :

(1) C,BandD

2) C,AandD

3 A CandB

4 C,DandB

(6) Question not attempted
Concept Attainment Teaching

model follows three main-phases :

A,  Testing Attainment of the
Concept.

B. Presentation of Data and
Identification of Concept.

C. Analysis of Thinking
Strategies.

Select the correct sequence :

(1) B,AandC

(2) A,BandC

8 B,Cand A

(4 C,AandB
(5) Question not attempted
04
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133. Advance organizer model was

given by !

(1) Atkinson & Shiffrin

(2) Bruner

(3) Austin

(4) David Ausubel

(5) Question not attempted

134. Imagination power and
composition skill of students can
be developed by :

(1) showing a stanza of poem on
a chart and reading it.

(2) Using set of pictures and ask
them to speak anything
about it.

(8) Difficult word-meanings by
writing them on the black
board.

(4) Using jumbled words and
students made to correct them
and form proper sentences.

(5) Question not attempted

135. While preparing a teaching

learning material a teacher must
consider its :

A. usefulness .
B. simplicity and cost
C. accuracy

D. mental level of students

Select the correct answer using
the codes given below :

(1) A/ CandD

(20 B,CandD

3 A,BandC

4 ABCandD

(5) Question not attempted

04
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136. Cooperative learning technique
‘Jigsaw’ was developed by :

(1) Elliot Aronson
(2) EKurt Lewin

/
(8) Albert Bandura
(4) Erik Erikson

o (8) Question not attempted

G

oyl

ety ,

%?@';’7. Which of the following is a key
characteristic = of  cooperative
learning ?

- (1) Students work independently

: % on separate task.

ﬁ (2) Students work together to

[ achieve a common goal.

(3) Teachers provide all the
answers.
(4) There is no need for group

’E roles and responsibilities.

% (6) Question not attempted

&

3

38. Information and Communication

Technology (ICT) supports :

(1) Teacher centred learping
é 2 Sglf directed learniné
g% (8) Autocratic learning
e environment

(4) Rote learning

(6) Question not attempted




139. Which approach is highlighted as .
an ineffective way of computer
based learning ?

(1) Equipment-driven
programmes without
systemic support.
(2) Interactive learner-ceniric
o
programmes. S‘;?

- (38) Community-driven education
initiatives. P~

(4) Teacher-student
collaboration _

*(5) Question not attempted }:::;
=
140. L.CD stands for gﬁ

(1) Liquid Crystal Display I

(2) Light Clean Display

(8) Light Crystal Diode

(4) Logical Crystal Display

(6) Question not attempted gé

. o)
141. System approach focuses on : g;

A. Learner and teacher only™
B. Content only

C. Instructional strategies and
class environment

D. Evaluation techniques -

Select the correct answer usSing
the codes given below : &

M{"B
Codes : E‘m
(1) Aonly
(2) AandB
@) A BandC
4 AB,CandD
(6) Question not attempted

>

142. Which one of the following
statement is incorrect in the
context of system approach ?

(1) The system approach takes
education as a system.

(2) The system approach
considers, the system of
education as a whole.

(8) The gystem approach
considers the system of

education as a part.

(4) In ‘system approach, a
teacher has to compare
different roles played by man

and machine.,

(5) Question not attempted

143. Which one of the following is NOT
paradigm for Computer Assisted

Learning ?

(1) Instructional Paradigm

(2) Instrumental Paradigm

(3) Revelatory Paradigm

(4) Emancipator Paradigm |

(5) Question not attempted
144. Through Comput;r | Aided

Instruction, students get :

(1) Personalized feedback

(2) Prompt correct answer

(3) Immediate feedback

(4) All of these

B) Questic;n not attempted




145.

04

( 1486.

“Educational Psychology describes

and explains the learning

experiences of the individual from

birth through old age”. Defined by :

(1) Skinner

(2) J.A. Stephen

3) Crow & Crow

(4) Kolensik

(6) Question not attempted

Educational Psychology deals with :

A. Learner, learning process,
evaluation of learning
performance

B. Learner, learning process,

learning situation

C. Problem of

problem 'of learning, problem

behaviour,

of individual differences

Select the correct answer using

the codes given below :

Codes :

() A BandC f@
(2) Aonly _ ﬁ?
(3 AandB
(49 Bonly
(6) Question not attempted

23
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147. The study of educational
psychology helps :
(1) Teacher and Iearqer
(2) Guardians only
(3) Manager only
(4) Principal only
ﬁm -
¢=  (8) Question not attempted-
2
;:E?S. Rapid increase in the weight and

height of the child occurs between
the period of :

(1) 10-12 years
= (2) 12-14 years
= 2 y
gi{% (3) 14-16 years
%‘9‘5 (4) 16-18 years
Wiy
(5) Question not attempted
149. According to Erikson’s
psychosocial development theory,
a major event occur during
w=  adolescence is:
fur?
gg (1) Independence
gfz (2) Peer relationships
(8) Love relationships
(4) Acceptance of one’s life
(5) Question not attempted

. i ,
€I50. Kohlberg has divided moral

development into :

(1) 4levels
(2) 6levels
(8) 5levels
(4) 3levels
(5) Question not attempted
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